Test 6

The missing word in each sentence below ends with -tion. Find the one that makes
sense from the choices in the Word Box. Be careful! There are extras!

Word Box
lotion
mention
promotion
nation
description
commotion
accumulation
situation
translation
invention
punctuation
station
prevention
formation

determination
population

1. It snowed all night, so there was an 6. Vaccinations are given for the
of disease.

of several inches by morning.
Y J 7. At midnight, the train pulled into the

2. | cannot read Spanish. I'll need a

8. The police were looking for a car with

3. Oscar did a good job, so he got a raise that

and a

9. Due to loss of habitat, the manatee

4. The geese flew overhead in a V-shaped is decreasing.

10. Every sentence should end with the

5. The party for Josh is a secret, so don't correct
it.
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Answers

accumulation
translation
promotion
formation
mention
prevention
station
description
population

. punctuation



